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CP 1563 - SNOW SONG - by Trent Worthington                                                SATB with piano

Sara Teasdale (1884-1933)

Trent Worthington

3. Snow Song

from Three Winter Songs
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Blow ing,- blow ing,- blow ing- ev 'ry- where;- Would
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Blow ing,- blow ing- ev 'ry- where;- Would
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that

too could fly light ly,- light ly,- light ly,- light ly- through the air.
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too could fly light ly,- light ly,- light ly,- light ly- through the air.

I too could fly light ly- through the air.

I too could fly light ly- through air.
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Like

mp

a wee cry stal- star I should drift, I should blow;
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Near more near dear, where he
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Near more near, near to my dear, where he
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comes through the snow.
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comes through the snow. I
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should fly,

he comes through the snow.

he comes through the snow.

fly to my love,
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*RH 4-note pattern to be played rhythmically independent of LH,

with a gradual ad lib. acceleration of pattern.
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I should fly to my love like a flake
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(pedalling continues)

in the storm. Fly
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*RH notes change, but independent rhythm continues
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fly to my love like a flake in the storm.
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(pedalling continues)
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